Contract ID: 12421 Counties: HUNTERDON, MERCER, MIDDLESEX, MONMOUTH, OCEAN,

SOMERSET, WARREN

Letting Date: January 08, 2013 District(s): C4

Call Order: 421 Project(s): STATE

Contract Time:

Line No / Item ID Item Description		(1) TRAFFIC	LINES INC	(2) ZONE STRIPING INC		(3) DENVILLE LINE PAINTING INC.		
Alt Set	/ Alt Member	Quantity and Units	Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
SECTIO	N : 0001	Road		Cat Al	t Set:	Cat A	It Member:	
0001	151006M	1.000	2,500.00000	2,500.00	6,558.77000	6,558.77	6,615.00000	6,615.00
PERFORI PAYMEN	MANCE BOND AND T BOND	DOLL						
0002	152004P	1.000	4,100.00000	4,100.00	1,500.00000	1,500.00	3,305.00000	3,305.00
-	S AND CONTRACTO TIVE LIABILITY ICE	DR'S DOLL						
0003	MMR005M	4.000	2,900.00000	11,600.00	2,900.00000	11,600.00	2,900.00000	11,600.00
SPECIAL	MOBILIZATION	U						
0004	MMG007M	(1)	10,000.00000	10,000.00	10,000.00000	10,000.00	8,400.00000	8,400.00
FIELD OF	FICE EQUIPMENT	LS						
0005	157004M	1.000	600.00000	600.00	600.00000	600.00	600.00000	600.00
CONSTR	UCTION LAYOUT	DOLL						



Contract ID: 12421 Counties: HUNTERDON, MERCER, MIDDLESEX, MONMOUTH, OCEAN,

SOMERSET, WARREN

Letting Date: January 08, 2013 District(s): C4

Call Order: 421 Project(s): STATE

Contract Time:

Line No / Item ID Item Description		(1) TRAFFIC	LINES INC	(2) ZONE STRIPING INC		(3) DENVILLE LINE PAINTING INC.		
Alt Set /	/ Alt Member	Quantity and Units	Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
SECTION	N : 0001	Road		Cat Al	t Set:	Cat A	It Member:	
0006	158072M	1.000	1,000.00000	1,000.00	1,500.00000	1,500.00	2,500.00000	2,500.00
OIL ONLY TYPE 1	EMERGENCY SPIL	L KIT, U						
0007	MMR080M	15,000.000	0.01000	150.00	0.05000	750.00	0.44000	6,600.00
CLEARING	G SITE	LF						
8000	610003M	140,000.000	0.65000	91,000.00	0.80000	112,000.00	1.60000	224,000.00
TRAFFIC :	STRIPES, LONG LIF ESIN 4"	E, LF						
0009	610006M	12,000.000	0.75000	9,000.00	1.20000	14,400.00	2.40000	28,800.00
TRAFFIC : EPOXY RI	STRIPES, LONG LIF ESIN 6"	E, LF						



Contract ID: 12421 Counties: HUNTERDON, MERCER, MIDDLESEX, MONMOUTH, OCEAN,

SOMERSET, WARREN

Letting Date: January 08, 2013 District(s): C4

Call Order: 421 Project(s): STATE

Contract Time:

Line No / Item ID Item Description		(1) TRAFFIC	C LINES INC (2) ZONE STR		RIPING INC	, , ,	NVILLE LINE PAINTING INC.	
Alt Se	t / Alt Member	Quantity and Units	Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
SECTIO	ON: 0001	Road		Cat Al	t Set:	Cat A	It Member:	
0010	610007M	15,000.000	0.95000	14,250.00	1.60000	24,000.00	3.20000	48,000.00
	C STRIPES, LONG LIF RESIN, 8"	E, LF						
0011	MMR081M	50,000.000	1.00000	50,000.00	1.45000	72,500.00	2.62000	131,000.00
	C MARKINGS, LINES, OPLASTIC	LF						
0012	610009M	9,000.000	6.00000	54,000.00	8.95000	80,550.00	8.40000	75,600.00
	C MARKINGS, DPLASTIC	SF						
0013	610012M	310.000	40.00000	12,400.00	45.00000	13,950.00	85.00000	26,350.00
RPM, MO LENS	ONO-DIRECTIONAL,	WHITE U						



Contract ID: 12421 Counties: HUNTERDON, MERCER, MIDDLESEX, MONMOUTH, OCEAN,

SOMERSET, WARREN

Letting Date: January 08, 2013 District(s): C4

Call Order: 421 Project(s): STATE

Contract Time:

Line No / Item ID Item Description		(1) TRAFFIC	LINES INC	(2) ZONE STRIPING INC (3) DENVILLE LINE INC.				
Alt Set / A	Alt Member Qu	uantity and Units	Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
SECTION:	0001	Road		Cat Al	t Set:	Cat A	It Member:	
0014 6	510018M	310.000	40.00000	12,400.00	45.00000	13,950.00	85.00000	26,350.00
RPM, MONO AMBER LEN	O-DIRECTIONAL, NS	U						
0015 6	310021M	310.000	40.00000	12,400.00	45.00000	13,950.00	85.00000	26,350.00
RPM, BI-DIR LENS	RECTIONAL, AMBER	U						
0016 6	510024M	100.000	5.00000	500.00	25.00000	2,500.00	40.00000	4,000.00
REMOVAL (OF RPM	U						
0017 6	610027M	800.000	10.00000	8,000.00	18.50000	14,800.00	49.00000	39,200.00
REMOVAL A	AND REPLACEMENT	OF U						
0018 6	510036M	10,000.000	0.70000	7,000.00	0.55000	5,500.00	1.75000	17,500.00
REMOVAL (OF TRAFFIC STRIPE	S LF						



Contract ID: 12421 Counties: HUNTERDON, MERCER, MIDDLESEX, MONMOUTH, OCEAN,

SOMERSET, WARREN

Letting Date: January 08, 2013 District(s): C4

Call Order: 421 Project(s): STATE

Contract Time:

	lo / Item ID Description		(1) TRAFFIC	LINES INC	(2) ZONE ST	RIPING INC		LINE PAINTING NC.
Alt Se	t / Alt Member	Quantity and Units	Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
SECTIO	DN : 0001	Road		Cat Al	t Set:	Cat A	It Member:	
0019	MMR067M	20,000.000	0.70000	14,000.00	0.70000	14,000.00	2.65000	53,000.00
	AL OF TRAFFIC IGS, LINES	LF						
0020	610039M	3,000.000	0.75000	2,250.00	4.00000	12,000.00	9.95000	29,850.00
REMOV	AL OF TRAFFIC MA	RKINGS SF						
0021	MMR064M	2,000.000	4.00000	8,000.00	5.50000	11,000.00	24.00000	48,000.00
CONTRA	IFE PATTERNED AST PAVEMENT IGS TAPE, 7"	LF						
0022	MMR090M	1,000.000	5.00000	5,000.00	7.00000	7,000.00	29.00000	29,000.00
CONTRA	IFE PATTERNED AST PAVEMENT IGS TAPE, 9"	LF						

Contract ID: 12421 Counties: HUNTERDON, MERCER, MIDDLESEX, MONMOUTH, OCEAN,

SOMERSET, WARREN

Letting Date: January 08, 2013 District(s): C4

Call Order: 421 Project(s): STATE

Contract Time:

Contract Description: Maint Long-Life Paymt Markings Cont, Central - 2013

Line No / Item ID Item Description		(1) TRAFFIC	1) TRAFFIC LINES INC (2) ZONE STR		RIPING INC (3) DENVILI		LINE PAINTING NC.
Alt Set / Alt Member	Quantity and Units	Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
SECTION: 0001	Road		Cat Alt	: Set:	Cat A	It Member:	
0023 MMR065M	100.000	2.00000	200.00	10.00000	1,000.00	18.00000	1,800.00
REMOVAL OF LONG LIFE PATTERNED CONTRAST PAVEMENT MARKINGS TAI	LF PE						
Section Totals:			\$330,350.00		\$445,608.77		\$848,420.00
Co	ntract Totals		\$330,350.00		\$445,608.77		\$848,420.00
Cost		\$330,350.00		\$445,608.77		848,420.00	

() indicates item is bid as Lump Sum

1

Page:



Vendor Ranking

Counties: HUNTERDON,

Project(s): STATE

MERCER, MIDDLESEX, MONMOUTH,

OCEAN, SOMERSET,

WARREN

Letting Date: January 08, 2013 10:00 a.m. District(s): C4

Contract Time:

Contract ID:

Contract Description: Maint Long-Life Pavmt Markings Cont, Central - 2013

Ra	nk	Vendor ID/Name	Total Bid	Percent Of Low Bid
1	T7152	TRAFFIC LINES INC	\$330,350.00	100.00%
2	Z6412	ZONE STRIPING INC	\$445,608.77	134.89%
3	D2597	DENVILLE LINE PAINTING INC.	\$848,420.00	256.82%

12421

I CERTIFY THAT THE ABOVE IS AN EXACT TRANSCRIPT OF THE ORIGINAL BID PROPOSAL, EXCEPT THAT ERRORS, IF ANY, IN EXTENSION AND ADDITIONS HAVE BEEN CORRECTED.

SIGNED,

Call Order:

421